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Q Grade 
score Annotation 

1 N2 

This answer shows little understanding of the text. Part a. does not address 
the question and misunderstanding is indicated in part c. where the candidate 
has clearly not understood that Julia disagreed with the advertisement in her 
review.  

2 A3 

Whilst this answer is very minimalistic, it does address the question and 
conveys some of the general meaning of the text, i.e. “Someone who likes 
nature and the outdoors because there are lots of outdoors activities” which 
lifts it from an N2 which might have just identified the cognates like 
“independent, curious, likes adventure” etc. This answer would be considered 
a low A3. 

3 N2 
Only two of the three problems have been loosely identified in this answer and 
part b. does not answer the question at all. To get to A3, the candidate would 
need to have at least identified all three problems correctly.  

N2 

This answer shows that the candidate has been able to identify some sections 
of the French text that are relevant to the questions, namely in part c. The 
whole answer shows limited understanding overall. In order to get 
Achievement, the answer would need to show a basic level of understanding 
of what the text actually means. 
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